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Question 1.Select the related word/letters/numbers from the given alternatives:

o8 T et & @ TG S1ea/ S1eRl/TRe & gy
Line : Square :: Arc : ?

xar: @it 9 ?
Options:

1) Ring

Ecp)

2) Sphere

picc

3) Circle

kNl

42 Ball

STt

Correct Answer: Circle
kRl

Candidate Answer: Circle

A

Question 2.Select the related word/letters/numbers from the given alternatives:

3 T Rrered] & @ Fafa e/ s1eRl/wwE@r & gyl

FJSP :DLQR :: GMIL : ?

Options:
1) EOGN

2) NIO
3) HOGN

4) IONG
Correct Answer: EOGN
Candidate Answer: EOGN

Question 3.Select the related word/letters/numbers from the given alternatives:

fa M feredt & @ Gafa e/ seRl/gwe ot gl
21:3:574:7?

Options:

1) 23

2) 82

3)97

4)113
Correct Answer: 82
Candidate Answer: 82

Question 4.

For the following questions
Find the odd word/letters/number from the given alternatives.

fag g Ryopent & & wf=a 2rsa/sierl/TwE &t gl

Staff Selection Commission
(Government Of India)

CANDIDATE NAME :
EXAM START TIME : 16:15:00
EXAM DURATION : 01:15 Hrs
TOTAL NO OF QUESTIONS : 100



Options:
1) Tabla
SECI)

2) Tanpura
GISES

3) Sarod
e

4) Sitar
[SGIK

Correct Answer: Tabla
GESI

Candidate Answer: Tabla
SECI

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

g Y ferehent # & TrafRa Sree/a1eRl/TRer @ gyl

Options:
1) CBED

2) JILK
3) TSVU

4) VZXY
Correct Answer: VZXY
Candidate Answer: VZXY

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

g Y ferment 7 & TrafRa Sree/a1eRl/Rer @ gfhg)

Options:
1) 132

2)176
3) 279

4) 352
Correct Answer: 279
Candidate Answer: 279

Question 7.Arrange the following words as per order in the dictionary
frafafd areal ot areaemier 3 A & SITER caafd Hifod |

1. Sinister 2. Sinuous 3. Sinhalese 4.Sinusitis 5. Sinecure
Options:
1)53,2,4,1

2)5,2,4,3,1
3)52,1,34

4)5,3,1,2,4
Correct Answer: 5,3,1,2,4
Candidate Answer: 5,3,1,2, 4

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series._
& T 1R H e g g 81 4y Y Renent 7 @ a8 el faehed 9T St SR ot O R

LMA, NOB, PQC, ?, STE

Options:

1) TUV

2) RSD

3) DOA

4) BRD



Correct Answer: RSD
Candidate Answer: RSD

Question 9.A series is given, with one term missing.
Choose the correct alternative from the given ones that
will complete the series.

[ T STIehH H Teh UG o g | iy T farepedt & T a8 gt
faehed MY ST SIIchH bl ORT e

41, 43, 47, 53, ?
Options:
1) 59

2) 63
3) 61

4) 65
Correct Answer: 61
Candidate Answer: 61

Question 10.Pointing towards a boy Meera said 'He is the
son of the only son of my grandfather.' How is that boy
related to Meera?

Uk cTSch chl 3R 3ART hid §Y HRT A hgl, "I8 TR 21eT & Iehalld
O ohl U3 g 1" I ASch hl HIRT Y RIT Teel-e g ?




Options:

1) Cousin

TR/ GO/ HERT/HIART TS
2) Brother

SIE]

3) Uncle

Tl

4) Brother-in-law

ST/ 3aR/SIas /<18

Correct Answer: Brother

SIE

Candidate Answer: Brother

EIE

Question 11.In a row of 15 children, when Raju was
shifted three places towards right, he became 8th from
the right end. What was his earlier position from the left
end of the row?

15 St <hl Yeh Ulh # ST9 9] ohl T &ligAT 37 i €I
gRafdd fohar mar dt ag qrfg R 9 89 W= WR g1 7171 98 Ugd
ihh I RGP W R AT ?

Options:

1) 14

2) 12
3)6

4) 5



Correct Answer: 5
Candidate Answer: 5

Question 12.From the given alternative words, select the
word which cannot be formed using the letters of the
given word:

Ffefea faemeat & @ ag 2reg g3 it fXu 7 21eg o et &
U] hich Aal I ST YehdT &

PREDICAMENT
Options:
1) CEMENT

2) DEMENTIA
3) PREDICT

4) PRIMER
Correct Answer: PRIMER
Candidate Answer: PRIMER

Question 13.In a certain code, TEACHER' is written as
VGCEJGT. How is 'CHILDREN"' written in that code?

fordt fafrse e # 'TEACHER' ot 'VGCEJGT' ot ST af 39
%< | 'CHILDREN' e chdt felar STrqer 2



Options:
1) EJKNEGTP

2) EJKNFTGP
3) EJNFITP

4) EJKNFTGH
Correct Answer: EJKNFTGP
Candidate Answer: EJKNFTGP

Question 14.If L denotes 'x', M denotes '+, P denotes '+
and Q denotes -, then

gfe L, 'x ot uefia aear g, M, '+ ol Uefia ear g, P + oht
Teffd eear g, 3k Q, - ot yefid ezar g, a

16P24M8Q6M2L3
Options:

1) 13/6

2)-1/6

3) 14%

4)10

Correct Answer: 10
Candidate Answer: 10



Question 15.The missing number in the given series is:

&1 TS Gl | oftd T A1d hiford |
15(105) 14,13 (?) 12

Options:

1) 91

2) 78
3) 65
4) 68

Correct Answer: /8
Candidate Answer: 78

Question 16.Select the missing numbers from the given
alternatives

f&q g faeredl # @ o U F1d hifsid |

? 120 150

110 100 90

Options:
1) 60

2) 70
3) 80

4) 90
Correct Answer: 90



Candidate Answer: 90

Question 17.Prabhu travelled from his house a distance
of 20kms to his friend's house. After some time he left his
friends house and took a turn towards right and travelled
15 kms to reach a park. After resting for a while, he again
started and turned to right and travelled 18 kms to reach a
petrol bunk. From there he again turned right and covered
a distance of 15 kms. How many km more he has to
travel to reach home?

g U TR & 20 foh.#Ht. 3R 379+ A7 o o 9 1| e 9
d1E g MU+ A7 oh o) & TIel o qIfgHT 3R 7€ 1 3R 15
foh.Ht. g Uk T | ugan| 98l $ R Ay o, 98 fh T«
TeT 3R glfg-T 3R e 18 foh. . Tatas Uah Ul g WR
UgdT| I8l 9§ ag : alfgHT 3R ggehe 15 foh. . g =t | at
319 g foha o Ht. 3R Tl hR 31U O ugd ST ?
Options:

1) 2 kms

2 fen 4.

2) 18 kms
18 foh 4.

3) 21 kms
21 feh H.

4) 23 kms
23 foh.Hi.

Correct Answer: 2 kms

2 fop. .

Candidate Answer: 2 kms

2 fen. .




Question 18.Consider the given statement/s to be true
and decide which of the given conclusions/assumptions
can definitely be drawn from the given statement.
Statements: Some flies are ants.

All insects are ants.

Conclusions: |. All flies are ants.

ll. Some ants are insects.

Fefafad oy o tep a1 gt a<har fod T8 8, 519 3m gt A/
AT=ATg, | 3R || Hepret 71 €1 3Uent AR AT § foh a<hed 9
¢ dTg dg IMHT=Id: Td d2ai O 9= Udid gidT gt | 3mgent fAuig
T ¢ foh R U ahen ° @ sl=-a1 [RfYa T T gat A/
=T fAehTeT ST 9ahdT & ?

Y : -5 AfRgdl, difedr gl

G ; |- gt shle, Aifear gl

fFreeny: |- aoff aferaar, Aifear g1

fAseRl: |I-pes difedl, i €1

Options:

1) Only conclusion | follows

chad ARy | 95l gl

2) Only conclusion Il follows

chad =Ry || Igt gl

3) Both conclusion | and conclusion Il follow

frseptf | 3R st 11 4 O&l 2|

4) Neither conclusion I nor conclusion Il follows

q fAshy | gl g 3R 7 [Fsendl ||

Correct Answer: Only conclusion Il follows

chad ARy || gt gl




Candidate Answer: Only conclusion Il follows

chad sy || T8l gl

Question 19.From the positions of a cube shown below,
which letter will be on the face opposite to face with 'A™?

feT MU g &t fafaat 9 ¢@ o 9d1d foh A &Y thedap & Sl
gTH Theldh UR hI=-9T 31&R g ?

A A D D
F B c El | ¢ B B F

Options:
1)F

2) D
3)C
4)B

Correct Answer: D
Candidate Answer: D

Question 20.Which one of the following Venn diagrams
best illustrates the three classes

fFrafefea d O sa-a1 d9-3mg 39 a9 2ot &1 ged o=t
e e aearg ?

Rhombus, Quadrilaterals, Polygons



4)

Correct Answer:

Candidate Answer:

©



Question 21.Which answer figure will complete the
pattern in the question figure?

hIF-8Y ITR HATehid U SMTpid o UTAEY el TT HAT 2




Options:

1)

3)

Correct Answer:

Candidate Answer:




Question 22.From the given answer figures, select the one
in which the question figure is hidden/embedded.

& 173 ITR STpfaal H T IR ATepfd st Y FTH 1= Simepfa
fedt 81

(0)

=

Options:

1)
@2

(

2)

T

(9Xp)

3)

)

(€

(4




Correct Answer:

(o)

(«

=

Candidate Answer:

(o)

&=

(€

Question 23.A piece of paper is folded and cut as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.

U SThiaal # @Y SR hITST hl AISHR hicA dUT Wi
& dT¢, ag fohd IR SMTepfa ST fezars 3 2

2 =< =TT

“ s -~ # b8

r/ g \ ;. Y ’ N
1 » i \ 2 v

]

BT Lo ;

. : 12

L —/




Options:

—
.

N
p

Correct Answer:

a0 %

hu

Candidate Answer:

a0 %

hu




Question 24.1f a mirror is placed on the line MN, then
which of the answer figures is the right image of the given
figure?

gfE Yeh 40T st MN T IR @1 5118 df &Y 178 IR SMTepfad & 9
h1--TY 3MTepfa U SMTepfa &t Tt ufafars gift 2

:

Options:
1)

VA7 77 7

2)

3)

4)

G G ey




Correct Answer:

:

Candidate Answer:

o




Question 25.In the question, a word is represented by only
one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two
matrices given below. The columns and rows of Matrix |
are numbered from 0 to 4 and that of Matrix Il are
numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, e.qg.,
'C' can be represented by 04, 40, etc., and 'K' can be
represented by 56, 75, etc.

Similarly you have to identify the set for the word 'NICE'

Fefofea uy & faeedt A 1Y U dar-ag, 31ert & af gt
g1 &21fQ 7Y &, i€ foh i 1&g T &t segel 7 81 sregg | &
T R URF AT TG0 T 4 amr S TS 8, R MG I H 5T 9
dch, 39 TGl ¥ Yeh &R hl Ugel IUch! Uk 3R a1 & Taey
IR gIRT &A1 ST ahdT & | I&T8<0T oh @10 'G' vt 04,40 gRT
gRITAT ST GahdT & T 'K' &l 56, 75 31TTe ZIRT &RATAT ST ehdT &l
gl a8 ¥ 3kt faT 2reg NICE o oIy 9Hg <l uga=-1 2|

O|lm|mia|lo|er
m|o|lAa|m|a| &

I—|—|2xm

9
N
L
_H.
K
I

rlxT|lZ2|&R|—]|®

5 7
H L
W g
K |
L N
N K

m | OO M| w

Uﬂmﬁ'mm

Blwialel o

A m|Oo|=m|n|O
I

W || ;|
|




Options:
1) 66, 58, 33, 02

2) 87, 65, 03, 24
3) 66, 23, 68, 30

4) 59, 68, 40, 02
Correct Answer: 66, 58, 33, 02
Candidate Answer: 66, 58, 33, 02

Question 26.Bilateral monopoly situation is

fgueita gerrider feafa g ?

Options:

1) when there are only two sellers of a product

STe Yeh g% o fath &t fachdr gid 8

2) when there are only two buyers of a product

STd Yeh a¥d o Ot &Y UTgeh 8id 8

3) when there is only one buyer and one seller of a
product

ST Ueh %] o fAth Uk UTgeh 3R Ueh fachdT 8id &

4) when there are two buyers and two sellers of a product

STd Yeh a%d o &I UTgeh 3R &t fachar gid 8

Correct Answer: when there is only one buyer and one
seller of a product

ST9 Yeh I%] o fAth b UTgeh SfR Yeh farha gid &

Candidate Answer: when there are only two sellers of a
product

STe Yeh g% o fath af fachdr gid 8




Question 27.Lorenz curve shows

AR=oT Tch RIT S AT & ?

Options:
1) Inflation

Hahifd

2) Unemployment

3) Income distribution

Y faaeor
4) Poverty
TRet

Correct Answer: Income distribution
Y faaun
Candidate Answer: [ NOT ANSWERED |

Question 28.The Preventive Detention Act curtailed

fare Aty sifafaaw (Mafa f$emm Tae) grRT &=am Aept ST
ghdT @ ?

Options:

1) Right to Freedom
SATSTIST <Al §eh

2) Right to Equality
YHTT <hl <h

3) Right to Property
gufl &1 gk

4) Education Right
fRreTT h1 geh




Correct Answer: Right to Freedom

37TSTT<! &bl §h

Candidate Answer: Right to Freedom

37TSTIGT Al §h

Question 29.0rnithophily is effected by

ST thed! fhdch gRT g1 8 ?
Options:

1) snails

G|

2) bats

JHIGS

3) insects

hret

4) birds

geft

Correct Answer: birds

gafl

Candidate Answer: birds

gafl

Question 30.To which ganarajya Gautam Buddha
belonged?

A g hIH-8 TURTST b & ?



Options:

1) Shibi

fRreft

2) Shakya
TR

3) Saurasena

GRET
4) Shabara
AT

Correct Answer: Shakya
RATHT

Candidate Answer: Shakya
RATHT

Question 31.Which of the following is not an Igheous
Rock?

fefefEad § 9 ple-ar ST S 8t 8 ?
Options:

1) Dolomite

SIclHTSE

2) Granite

UEIEC

3) Basalt

9T

4) Gabbro
st

Correct Answer: Dolomite

SidaEe
Candidate Answer: [ NOT ANSWERED ]



Question 32.Which of the following vitamins help in the
absorption of calcium?

f=fafEa d 9 ol=-a1 faarfa hfram & sragnyor § 9gric @
?

Options:

1) Vitamin A
ICRIGGRY

2) Vitamin D
faerfas S

3) Vitamin B
faerfaq &t

4) Vitamin C
faerfae <t

Correct Answer: Vitamin D

farera= St

Candidate Answer: Vitamin C

[ERIGEK:]]

Question 33.The outermost layer of sun is called

g hl GaY ST U hl RIT hgd @ ?



Options:

1) Lithosphere
WITHS

2) Chromosphere
quiHed

3) Photosphere
TchIMH S

4) Corona

ShIRIAT

Correct Answer: Chromosphere

guitded
Candidate Answer: [ NOT ANSWERED ]

Question 34.Constantly running system - program
processes are known as

fARar gfery RAeH-Uium N9 Sl R hed € ?

Options:
1) Daemons

ST

2) Processes

U

3) Process Block

T elich

4) Process Control Block
T chelel sileh

Correct Answer: Daemons

ST

Candidate Answer: Processes

BIEE




Question 35.Which of the following vitamins contain
nitrogen?

f=fafea | @ fohg faerta+ J Argeis gidt 8 2
Options:

1) Vitamin A

CRIGERY

2) Vitamin B

[ERIGEEI!

3) Vitamin C

faerfae 4t

4) Vitamin D

faera €

Correct Answer: Vitamin B

ferertae &t

Candidate Answer: Vitamin A

ICRIGGRY

Question 36.Science dealing with study of soil is called

7T 9 Hefed fa=i 1 Shgerdi g ?



Options:

1) Pedology
qaT fagm

2) Pedagogy
fRrear e

3) Ecology
gTiRfefaeht

4) Pomology

qitTSIt

Correct Answer: Pedology
qar fagm

Candidate Answer: Pedology
HaT fag=

Question 37.With which sport is P.V. Sindhu associated?

gt. ot e op1 A forg W E S[eT 8 ?

Options:
1) Shooting
spfT (ﬁanﬁmvrﬁ)

2) Boxing

3) Swimming

4) Badminton

deffeq

Correct Answer: Badminton
deffieq

Candidate Answer: Badminton

SeffieT



Question 38.In hydel power station, the motion produced
in turbines is due to

Siet fae]d che H a1 fhad Terdl 8 ?
Options:

1) flow of water

gl & g8 @

2) burning of coal

chlget ch ST &

3) burning of diesel

3T & ST @

4) production of steam

U ok IATe 9

Correct Answer: flow of water

BIEICACEE K

Candidate Answer: flow of water

Ol & 58+ |

Question 39.Which of the following gases is known as
"Laughing Gas"?

fAmfeiiad # & epl-4t 719 ol ‘g1 719" ehgd & ?



Options:

1) Nitrous oxide
IR GRS

2) Nitrogen peroxide

g o RITAEs
3) Nitrogen

4) Nitric oxide

q1gfeeh TS

Correct Answer: Nitrous oxide
A15¢d 1SS

Candidate Answer: Nitrous oxide
qdIgcy IHIss

Question 40.The 'solid waste' is also known as

"gifers & AEfeifaad § O iR fhg A I STFT ST 8 2

Options:
1) Sedge
|

2) Toxic waste
IferIch 9%

3) Sludge

Lofol

4) Scrubber
LchedlX

Correct Answer: Sludge
Lofol

Candidate Answer: Sludge
NN



Question 41.1f waste materials contaminate the source of
drinking water, which of the following diseases will
spread?

3R SRl YA oh Ut F et ST1Q df ehia-dt SH1e thaft ?

Options:
1) Scurvy
Thdl

2) Typhoid
AERIES

3) Malaria
HelfaT

4) Anaemia

oA

Correct Answer: Typhoid
AERTES

Candidate Answer: Typhoid
AERIES

Question 42.Kalamkari painting refers to

thTHhIR [RehdlT hl o= fchad 87



Options:
1) A hand painted cotton textile in South-India
10T YR B g%a-FIf>d gdl a

2) A handmade drawing on bamboo handicrafts in North-
East India

gk YRd | oY o g&I1AeT UR §&ATHI 3TTepid

3) A block painted woollen cloth in Western Himalayan
region of India

VR b UigHt fgaTerdt &3 H seifes R St g
4) A hand painted decorative silk cloth in North-Western
India

Ui HIR YRd § g&afi>d Ieiract W a8

Correct Answer: A hand painted cotton textile in South-
India

ZferoT RA # ga-Rf3a gt a=

Candidate Answer: A handmade drawing on bamboo
handicrafts in North-East India

qai<k YRd H 19 & g%aied UR ged-Hd STTepld

Question 43.Which of the following areas make the
largest contribution to national income in India?

il & & ek omr % Rorg Re sifieas aher 2 2



Options:
1) Industry
ST

2) Services

gqar
3) Agriculture

4) Mining
IR

Correct Answer: Services

e

Candidate Answer: Services

)|

Question 44.Chachnama records the history of which
conquest?

IIETHT | hI-8 [ & sfdg™ w1 RS § ?
Options:
1) Kushanas

YT
2) Hunas

gul
3) Arabs

S
4) Greeks

AT

Correct Answer: Arabs
3L

Candidate Answer: [ NOT ANSWERED ]



Question 45.The deepest trench of the Indian Ocean is

foe HETaTR &Y Fa T8 @Ts i g ?
Options:

1) Java trench

STTeT @13

2) Aleutian trench

MEIERIEKGIES

3) Atacama trench
JATETRTHT WS

4) Tizard trench
BEICECIE

Correct Answer: Java trench
NICIKEIES

Candidate Answer: Atacama trench
3{TCTRTHT TS

Question 46."Abhinav Bharat" was founded in 1904 as a
secret society of revolutionaries by :

1904 H shTf~ehTiRAT <l Tt HEAT & &Y H 'SV YR’ i
T fehee ht ot 2




Options:

1) Damodar Chapekar
GMHER AU

2) V. D. Savarkar
Y. St greRene

3) Praffula Chaki
Utheel dTchl

4) Khudiram Bose
t{cﬂ?rrr g

Correct Answer: V. D. Savarkar
Y. 3. TR

Candidate Answer: [ NOT ANSWERED ]

Question 47.ldeas of welfare state are contained in

hedTUTehIR] Iog da=¢ff foaR forgd e o g 2
Options:

1) Fundamental Rights

7l YRR

2) Directive Principles of State Policy

ISg T Gaeelt fAgeren g

3) Preamble of the Constitution
Gfaer <l e fAehr

4) Part VI

T VI

Correct Answer: Directive Principles of State Policy

ISgH T Gaeelt fAgeren g

Candidate Answer: Directive Principles of State Policy

ISg I Td Ga=elt fAgeren g




Question 48.Which of the following is called the 'Land of
the Golden Pagoda'™?

"AS STt g Mee TMel" fhd dhed & ?
Options:

1) Myanmar

AR

2) China

EIE|

3) Japan

NIEIG

4) North Korea

I ahifar

Correct Answer: Myanmar
MHR

Candidate Answer: [ NOT ANSWERED |

Question 49.Which Indian author in May 2016 won the
prestigious 2016 Scholastic Asian Book Award for her
work ‘Codex : The Lost Treasure of the Indus' ?

fehe YR AfReenT oht 718 2016 H Ih! T&ieh 'hiSe : & i
¢oR 3ATth $84' &h felT whifeileer QiRIE ok Sra1e 9 Aarsit
oqr1 ?




Options:

1) Anita Desai

3rfar 3ard

2) Aditi Krishna Kumar
fefd peoTpAR

3) Rupa lyer

T YL

4) Preethi Nair
thifd AR

Correct Answer: Aditi Krishna Kumar
i poGAR
Candidate Answer: [ NOT ANSWERED ]

Question 50.Pneumonia is a bacterial disease caused by
the type of bacteria called

ohi< T SR IR [AH =T T hr hRUT 8 2
Options:

1) Bacilli

dfafer

2) Cocci

chichTs

3) Sprilli

faifer

4) Vibrio

CIER]

Correct Answer: Cocci

hichTs

Candidate Answer: Bacilli

dfafer




Question 51.A and B undertake a piece of work for Rs.
250 . A alone can do that work in 5 days and B alone can
do that work in 15 days . With the help of C, they finish the
work in 3 days . If every one gets paid in proportion to
work done by them, the amount C will get is

A 3R B Ueh &1 @l Rs. 250 H oA bl et dd 81 A 3T
1 h! 3Tchet 5 &7 & 3R B 39 &hH ol 37chet 15 g & ax
HehdT g1 d C <hl Hec I A i 3 feT | g o ofd 1 afe |t
ohl AR ok IUTA | UTRHTHG AT gt df C oht fohd=T 0y
fAertt 2

Options:

1) Rs.50

2) Rs.100
3) Rs.150

4) Rs.200
Correct Answer: Rs.50

Candidate Answer: Rs.50

Question 52.Dealer purchased an article for Rs. 900 and
fixes the list price in such a way that he gains 20% after
allowing 10% discount, then the list price is

Tk fachdT 9 Rs. 900 & Teh I @RIdY 3R Tt 9o 39 UehRR
fetRa fohar foh 10% @ & & a1e I 20% oh1 @1 g, af it

qed R g ?



Options:
1) Rs.1180

2) Rs.1080
3) Rs.1200

4) Rs. 1100
Correct Answer: Rs.1200
Candidate Answer: Rs.1200

Question 53.Cost price of 28 articles is equal to Sale price
of 21 articles, then percentage of profit is

e 28 FEI 3 hl ANTd Hed 271 G¥g 311 oh forchl Hed oh sRIeR g, ot
oI Ufdrd fhaT 8 2

Options:

1) 12%

2) 33%s %

3) 20%

4) 22%

Correct Answer: 337 %
Candidate Answer: 33"z %

Question 54.In the last financial year, a car company sold
41,800 cars . In this year, the target is to sell 51,300 cars .
By what percent must the sale be increased ?

s facd a9 § Ueh R huHl = 41,800 &K 1| 39 aW
51,300 TR s vl @18 g1 farsht vt fohas ufaRra e givm 2




Options:
1)

227

2)

85,
i

3)

8119’
237°

4)
22 %%
Correct Answer:

2220
i

Candidate Answer:

2220
i

Question 55.1f the speed of a boat in still water is 20
km/hr and the speed of the current is 5 km/hr, then the
time taken by the boat to travel 100 km with the current is

gie fAR ST | tent it 71fd 20 fop.Ht./gver & ok urT &t 71fd 5
fon. . /guer gt af ¥RT <hl 71T oh 1 100 fohd Rt am=m ag e |
tenT aht fehd=IT IHT TR ?




Options:

1) 2 hrs

2 ©e

2) 3 hrs

3°d

3) 4 hrs

4 €§¢

4) 7 hrs

7 ©¢

Correct Answer: 4 hrs
4 €

Candidate Answer: 4 hrs

46¢

Question 56.1f a sum of money doubles itself in 8 yrs, then
the interest rate in percentage is ?

ohlg YR 8 Y | T AT gl STt 8, al Tl &2 ( Ufdrd )
foha-t g ?

Options:

1) 8 1%

2) 10%

3) 10% %

4)12"% %
Correct Answer: 122 %
Candidate Answer: 12 2 %



Question 57.1f (x-5)2 + (y-2)2 + (z- 9)?= 0, then value of
(x+y-2z)is

g (x - 5)%+ (y-2)2+ (z2-9)2=0,d@ (x +y-2) FIAF TS ?
Options:

1) 16

2) -1

3) -2

4)12

Correct Answer: -2
Candidate Answer: -2

Question 58.

Ifx + 2 = 3 then x®+is equal to

Mg x + = 3+ fFa§ 2
Options:
1) 2201

2) 2203
3) 2207

4) 2213
Correct Answer: 2207/
Candidate Answer: 2207



Question 59.Points P, Q and R are on a circle such that
£ZPQR =40° and £QRP = 60°. Then the subtended angle
by arc QR at the centre is

fe=g PQ 3R R Ueh ged IR 39 UhR & foF L PQR = 40° 3R
£ QRP = 60° @ dhwz # =Y QR GRT AR 0T fehe 1 & ?

Options:
1) 80°

2) 120°
3) 140°
4) 160°

Correct Answer: 160°
Candidate Answer: 160°

Question 60.

2
The ratio of the angles of a triangle is 1:§ :3.Then the smallest angle is:

U 3BT & 10T o 3119 1: % : 3 B, 1 efecciel v fehctelln ?



Options:

4)

38 =
7

Correct Answer:

5o
25 —
7

Candidate Answer:

5ﬂ
25 —
7

Question 61.If a+ 8 =90° and a:B = 2:1, then the ratio of
cosato cosPis

g a+ B =90° 3R a:p = 2:1,dl cosa d cosP <kl U HIT 8
2

Options:
1) 1:v3

2) 1.3
3)1.v2
4)1:2

Correct Answer: 1:v3
Candidate Answer: 1:v3



Question 62.The least number to be added to 13851 to
get a number which is divisible by 87 is

13851 | dg hiH-Hl AdH &A1 STist ST foh Ut Hwem ured gt
il 87 8 QR kg fawrsa gt ?

Options:
1) 18

2) 43
3) 54

4) 69
Correct Answer: 69
Candidate Answer: 69

Question 63.Two numbers are in the ratio 3:5. If 6 is
added to both of them, the ratio becomes 2:3. The
numbers are

2 G&ATY 3:5 oh SUTd | g1 gic I &IH H 6 STrg feam Sig ot
3T 2:3 8l ST g1 d H&=ATU R g ?

Options:

1) 21 and 35

21 3k 35

2) 30 and 50
30 3R 50

3) 24 and 40
24 3R 40

4) 18 and 30
18 31k 30



Correct Answer: 18 and 30

18 31* 30

Candidate Answer: 18 and 30
18 3R 30

Question 64.The average weight of 10 parcels is 1.7 kg.
Addition of another new parcel reduces the average
weight by 60 gram. What is the weight, in kg, of the new
parcel?

10 Tt ol 3id avid 1.7 .31 §1 Ueh 9471 Urdd A= W)
3T a1 60 TTH A 8l SITdT & | ¢ TS ohl aei fehd T foh. I
g7

Options:

1) 1.04

2) 1.08
3) 1.4

4)1.8
Correct Answer: 1.04
Candidate Answer: [ NOT ANSWERED ]

Question 65.

Ifx=999,y=1000, z = 1001, then the value of Wis

x—ytz

gig x =999, y=1000, z= 1001, g5 ZEEEB0T o e T £ 2
x—y+=




Options:
1) 1000

2) 9000
3) 1

4)9
Correct Answer: 9
Candidate Answer: 9

Questlon 66

c
2 B gz g g
1-2a 1 2 ' 1-2c 2 T the Viilug 1-2a  1-2b 1—25‘13

e+ b = LA+ o+ T A T B2

Options:
1) 1

2) 2
3) 3
4) 4

Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]



Question 67.In an isosceles triangle AABC, AB = AC and
£ A =80°. The bisector of £B and £ZC meet at D. The
£ BDC is equal to

Tch qHfgeTg As AABC H, AB = AC 3R LA = 80° d2T 4B
3R £ C o fgymeieh D W= fAeid 81 £ BDC fohddch sRTeR & ?

Options:
1)90°

2) 100 ©
3)130°

4) 80°
Correct Answer; 130°
Candidate Answer: 130°

Question 68.The length of a chord which is at a distance
of 12 cm from the centre of a circle of radius 13 cm is

13 . 3fY. & Froam aret ged & g @ 12 A1 A g S B
oaTs fhat g 2




Options:
1) 10 cm
10 9.4,

2) 5cm
5 3.Hl.

3)6cm
6 4.4

4) 12 cm
12 9.4l

Correct Answer: 10 cm

10 9.4

Candidate Answer: 10 cm

10 9.4

Question 69.If © is positive acute angle and 7cos26 + 3
sin20 = 4, then the value of 8 is

gfg © eMTcHS = hivT @ 3R 7c0s20 + 3 sin20 = 4, at 6 &
A RTE ?

Options:

1) 60°

2) 300
3) 450

4)90°
Correct Answer: 60 ©
Candidate Answer: 60 ©



Question 70.Radius of cross section of a solid right
circular cylindrical rod is 3.2 dm. The rod is melted and 44
equal solid cubes of side 8 cm are formed. The length of
the rod is (Take N =22/7)

Teh T+ gl SIel-TTehR B ch U Shic bl fHsar 3.2 dm. g1

S o TTeTTehs 8 THI. ITel IRTER-SRTER @h 44 319 ¥ §41Y SiTd

&1 oe &l s fohadi & 2

(\AFTN =22/7)

Options:
1) 56 cm
56 4. 4.
2) 7 cm
7 9.4,
3)5.6cm
5.6 9.4,

4) 0.7 cm
0.7 &4

Correct Answer: 7 cm

VAR

Candidate Answer: 7 cm

7 4.



Question 71.The angles of elevation of the top of a tower
from two points at a distance of 4 m and 9 m from the
base of the tower and in the same straight line with it are
complementary. The height of the tower is

Qeh TR oh daT 9 4 Ht. 3R 9 #ft. il gt IR g el @ R &t
feigart & 2lar o e e I=Ta hivT GEen g1 TTaR i &g fehaHl
g7

Options:

1)4m

Correct Answer: 6 m

6 .

Candidate Answer: 6 m

6 .



Question 72.Study the histogram of marks (in
Mathematics) distribution of 50 students of class IX and
answer the following questions.

helT IX & 50 BT & 3ich fAarur & 8T ohr Sregd ShifSg
3R Ffeifad gt & SR &SR |

|
|
|
|
|
|
}
|
|
!
|

NNNNNNNN
ﬂﬂﬂﬂﬂﬂ

The number of students who have secured marks less
than 60 is

60 O hH 3ich UTd hed dTed BT chl AT fehd=1 & ?

Options:
1) 12

2) 15
3) 33
4)7

Correct Answer: 33
Candidate Answer: 15



Question 73.Study the histogram of marks (in
Mathematics) distribution of 50 students of class IX and
answer the following questions.

helT IX & 50 BT & 3ich fAarur & 8T bl Sregd ShifSg
3R Fferfad gt & SR &SR |

|
|
|
|
|
|
}
|
|
!
I

NNNNNNNN
ﬂﬂﬂﬂﬂﬂ

The average marks of the students are

B oh 3Nd 3ich feha- & ?
Options:
1) 53.2

2) 45.5
3) 60.2

4) 55.5
Correct Answer: 53.2
Candidate Answer: 53.2



Question 74.Study the histogram of marks (in
Mathematics) distribution of 50 students of class IX and
answer the following questions.

helT IX & 50 BT & 3ich fAarur & 8T ohr Sregd ShifSg
3R Fferfad gt & SR &SR |

|
|
|
|
|
|
}
|
|
!
|

NNNNNNNN
ﬂﬂﬂﬂﬂﬂ

The number of students who have scored between 39 and
80 is

39 31k 80 < I 3ieh UT hA dTet BT chl AT fehdl & ?

Options:
1) 22

2) 18
3) 37
4)15

Correct Answer: 22
Candidate Answer: 18



Question 75.Study the histogram of marks (in
Mathematics) distribution of 50 students of class IX and
answer the following questions.

hefl IX & 50 BT & 3ich fAarur & 8T ohr Sreqd+ ShifSg
3R Fferfad gt & SR &SR |

|
|
|
|
|
|
}
|
|
!
|

NNNNNNNN
ﬂﬂﬂﬂﬂﬂ

Percentage of students who have secured marks more
than 59 is

59 T 31fYeh 3ich UTW i aTet SEN bl UTdRId fohaT & ?

Options:
1) 13

2) 17
3) 34
4) 26

Correct Answer: 34
Candidate Answer: [ NOT ANSWERED ]



Question 76.In the following question, out of the four
alternatives, choose the word which best expresses the
meaning of the given word and click the button
corresponding to it.

EMANCIPATE

Options:

1) LIFT

2) RISE

3) RAISE

4) LIBERATE

Correct Answer: LIBERATE

Candidate Answer: LIBERATE

Question 77.In the following question, out of the four
alternatives, choose the word which is opposite in
meaning to the given word and click the button
corresponding to it.

TREACHERY

Options:

1) BETRAYAL

2) MULING

3) LOYALTY

4) REBELLION

Correct Answer: LOYALTY

Candidate Answer: LOYALTY

Question 78.Four words are given, out of which only one
word is spelt correctly. Choose the correctly spelt word
and click the button corresponding to it.



Options:

1) Ajournment

2) Adjournmant

3) Ajornment

4) Adjournment

Correct Answer: Adjournment

Candidate Answer: Adjournment

Question 79.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the “No error”
option.

Some of the richest (A) / business magnate (B) / live in
Mumbai. (C) / No Error (D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: B

Candidate Answer: A



Question 80.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the “No error”
option.

This is an urgent (A) / matter which may admit (B) / of
few delays. (C) / No error (D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the “No error”
option.

Outside, the rain beats down (A) / in floods and the sea
gives forth (B) / a sound like an alarm bells. (C) / No error
(D)

Options:

1) A

2) B

3)C

4) D

Correct Answer: C



Candidate Answer: C

Question 82.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

| hope you know that, once you have signed the contract,
you will not be able to
Options:

1) back in

2) back out

3) back up

4) back at

Correct Answer: back out

Candidate Answer: back out

Question 83.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Your opening paragraph should the reader's
attention.

Options:

1) attest

2) address

3) attract

4) affect



Correct Answer: attract
Candidate Answer: attract

Question 84.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

When | visited him last evening we talked the matter

Options:

1) through

2) away

3) off

4) over

Correct Answer: over

Candidate Answer: through

Question 85.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

A Man of letters
Options:

1) Letter - writer
2) Proof - reader

3) Postman
4) Scholar

Correct Answer: Scholar



Candidate Answer: Scholar

Question 86.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Under a cloud
Options:

1) Shocked

2) Sad

3) Sick

4) Confused

Correct Answer: Sad

Candidate Answer: Confused

Question 87.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Bear in mind
Options:

1) Respect

2) Observe

3) Remember

4) Pretend to listen

Correct Answer: Remember
Candidate Answer: Remember



Question 88.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Chief of a group of workmen.
Options:

1) Chieftain

2) Engineer

3) Foreman

4) Middleman

Correct Answer: Foreman
Candidate Answer: Foreman

Question 89.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Bitter quarrel between two families existing for a long
period.

Options:

1) Siege

2) Feud

3) Battle

4) War

Correct Answer: Feud

Candidate Answer: Feud



Question 90.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Animals without a backbone.
Options:

1) Marsupials

2) Mammals

3) Vertebrate

4) Invertebrates

Correct Answer: Invertebrates
Candidate Answer: Invertebrates

Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

Can you be able to please tone down your excitement?
Options:

1) Can you please be able to tone down your excitement?
2) Are you able to please tone down your excitement?

3) Can you please tone down your excitement?

4) No improvement

Correct Answer: Can you please tone down your
excitement?

Candidate Answer: Can you please tone down your
excitement?




Question 92.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

Uneasy lies the head which wears the crown
Options:

1) who

2) that

3) what

4) No improvement

Correct Answer: that
Candidate Answer: who

Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

The cities are bursting on the seams with people.
Options:

1) bursting on seams

2) bursting at seams

3) bursting at the seams

4) No improvement

Correct Answer: bursting at the seams
Candidate Answer: [ NOT ANSWERED ]



Question 94.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

Let his failure be a lesson to you all.
Options:

1) to all of you

2) to all you people

3) to all you

4) No improvement

Correct Answer: to all of you
Candidate Answer: to all of you

Question 95.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

A foolish person is some one who is easily taken-in and
tricked by others.

Options:

1) sober

2) stupid

3) gullible

4) No improvement



Correct Answer: gullible
Candidate Answer: gullible

Question 96.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.
Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500
people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. Oil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition



may be willy-nilly or planned - the choice is ours.

The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more
difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis and act in tandem to ensure that the species
'homo sapiens’ does not become extinct.

The theme of the passage is
Options:

1) Changing Lives

2) Looming Energy Crisis

3) Energy Resources

4) Power in Today's world

Correct Answer: Looming Energy Crisis
Candidate Answer: Looming Energy Crisis

Question 97.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.



Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500
people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. Oil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition
may be willy-nilly or planned - the choice is ours.

The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more
difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis and act in tandem to ensure that the species
'homo sapiens’ does not become extinct.

Biomass is an energy source used in
Options:

1) agriculture

2) industry

3) homes

4) offices

Correct Answer: homes

Candidate Answer: homes



Question 98.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.
Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500
people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. Oil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition
may be willy-nilly or planned - the choice is ours.



The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more
difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis and act in tandem to ensure that the species
'homo sapiens’ does not become extinct.

The synonym for Ubiquitous is
Options:

1) Omnipotent

2) Omnifarious

3) Omniscient

4) Omnipresent

Correct Answer: Omnipresent
Candidate Answer: Omnipresent

Question 99.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.
Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500



people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. Oil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition
may be willy-nilly or planned - the choice is ours.

The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more
difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis and act in tandem to ensure that the species
'homo sapiens’ does not become extinct.

The energy sources of the future are
Options:

1) nuclear and hydro power

2) coal and natural gas

3) wind and solar power

4) oil and biomass

Correct Answer: wind and solar power
Candidate Answer: wind and solar power

Question 100.A passage is given with 5 questions



following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.
Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500
people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. Qil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition
may be willy-nilly or planned - the choice is ours.

The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more



difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis and act in tandem to ensure that the species
'homo sapiens’ does not become extinct.

The survival of mankind will depend on

Options:

1) maximum use of available energy resources

2) transition to sustainable energy resources

3) regulation placed on energy consumers

4) keeping the level of energy production constant
Correct Answer: transition to sustainable energy
resources

Candidate Answer: transition to sustainable energy
resources



